Table 4.43UH System Enrollment by Recent Public Charter School Graduates: Fall 2014

		Total Univ				University of Hawai'i Campus							
	June 2014 High School Gradsuates ¹	Total University of Hawaiʻi System		4-Year C Subt		University of Hawaiʻi at Mānoa ²		University of Hawaiʻi at Hilo ²		University of Hawaiʻi-West Oʻahu²			
		No.	Going Rate	No.	Going Rate	No.	Going Rate	No.	Going Rate	No.	Going Rate		
Oʻahu													
Education Laboratory PCS	50	21	42.0	16	32.0	15	30.0	1	2.0	0	0.0		
Hālau Ku Mana Charter	7	1	14.3	0	0.0	0	0.0	0	0.0	0	0.0		
Hālau Lōkahi Charter	6	2	33.3	0	0.0	0	0.0	0	0.0	0	0.0		
Myron B. Thompson Academy PCS	39	13	33.3	4	10.3	2	5.1	0	0.0	2	5.1		
Hawai'i Technology Academy PCS	24	5	20.8	2	8.3	0	0.0	0	0.0	2	8.3		
Kamaile Academy PCS ⁴	9	1	11.1	0	0.0	0	0.0	0	0.0	0	0.0		
Hakipu'u Learning Center PCS	2	1	50.0	0	0.0	0	0.0	0	0.0	0	0.0		
Ke Kula 'O Samuel M. Kamakau	4	1	25.0	0	0.0	0	0.0	0	0.0	0	0.0		
Hawaiʻi													
Connections PCS	22	9	40.9	1	4.5	0	0.0	1	4.5	0	0.0		
Hawai'i Academy of Arts & Science PCS	41	13	31.7	6	14.6	1	2.4	5	12.2	0	0.0		
Ka 'Umeke Kā'eo PCS ⁴	7												
Kanu o ka 'Āina Charter	10	5	50.0	1	10.0	0	0.0	1	10.0	0	0.0		
Ke Ana La'ahana Charter	7	6	85.7	1	14.3	0	0.0	1	14.3	0	0.0		
Ke Kula O Ehunuikaimalino ⁵	0	1	NA	0	0.0	0	0.0	0	0.0	0	0.0		
Kua 'O Ka La PCS	10	2	20.0	0	0.0	0	0.0	0	0.0	0	0.0		
Laupahoehoe Community PCS ⁶	6	3	50.0	1	16.7	0	0.0	1	16.7	0	0.0		
West Hawai'i Explorations Academy	29	7	24.1	4	13.8	3	10.3	1	3.4	0	0.0		
Maui County													
Kīhei Public Charter	41	17	41.5	2	4.9	1	2.4	1	2.4	0	0.0		
Kauaʻi													
Kanuikapono Learning Center	1	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0		
Kawaikini PCS	2	1	50.0	0	0.0	0	0.0	0	0.0	0	0.0		
Ke Kula Ni'ihau 'O Kekaha PCS	1	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0		
Kula Aupuni Ni'ihau A Kahelelani	4	2	50.0	0	0.0	0	0.0	0	0.0	0	0.0		

¹ Excludes home schoolers and students who earned high school diplomas through the General Education Development (GED) examination.

² Entering freshmen only.

- ³ Includes all regular first-time students; excludes specials (early admits).
- ⁴ First graduating class in June 2014.
- ⁵ School reported no graduates in school year 2013-14; going rate is undefined.
 ⁶ Laupahoehoe became a Public Charter School in school year 2012-13.
- ⁷ First graduating class in June 2013.

Note: The "going rate" is the percentage of "recent" high school graduates from Hawai'i public and private high schools entering the University of Hawai'i campuses in a given fall semester. "Recent" high school graduates are those who completed high school in the school year immediately preceding enrollment in post-secondary education.

Source: University of Hawai'i, Institutional Research Office. High School Background of First-Time Students Fall 2014.

	June 2014 High School Gradsuates ¹	University of Hawaiʻi Community Colleges ³															
		Subtotal		Hawaiʻi		Honolulu		Kapi'olani		Kauaʻi		Leeward		Maui		Windward	
		No.	Going Rate	No.	Going Rate	No.	Going Rate	No.	Going Rate	No.	Going Rate	No.	Going Rate	No.	Going Rate	No.	Going Rate
Oʻahu																	
Education Laboratory PCS	50	5	10.0	0	0.0	0	0.0	4	8.0	0	0.0	0	0.0	0	0.0	1	2.0
Hālau Ku Mana Charter	7	1	14.3	0	0.0	0	0.0	1	14.3	0	0.0	0	0.0	0	0.0	0	0.0
Hālau Lōkahi Charter	6	2	33.3	0	0.0	0	0.0	0	0.0	0	0.0	1	16.7	1	16.7	0	0.0
Myron B. Thompson Academy PCS	39	9	23.1	1	2.6	1	2.6	3	7.7	0	0.0	4	10.3	0	0.0	0	0.0
Hawai'i Technology Academy PCS	24	3	12.5	0	0.0	0	0.0	1	4.2	0	0.0	2	8.3	0	0.0	0	0.0
Kamaile Academy PCS ⁴	9	1	11.1	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	1	11.1	0	0.0
Hakipu'u Learning Center	2	1	50.0	0	0.0	0	0.0	0	0.0	1	50.0	0	0.0	0	0.0	0	0.0
Ke Kula 'O Samuel M. Kamakau	4	1	25.0	0	0.0	1	25.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0
Hawaiʻi																	
Connections PCS	22	8	36.4	8	36.4	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0
Hawai'i Academy of Arts & Science PCS	41	7	17.1	5	12.2	0	0.0	0	0.0	0	0.0	1	2.4	1	2.4	0	0.0
Ka 'Umeke Kā'eo PCS ⁴	7																
Kanu o ka 'Āina Charter	10	4	40.0	3	30.0	1	10.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0
Ke Ana La'ahana Charter	7	5	71.4	5	71.4	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0
Ke Kula O Ehunuikaimalino ⁵	0	1	NA	1	NA	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0
Kua 'O Ka La PCS	10	2	20.0	2	20.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0
Laupahoehoe Community PCS ⁶	6	2	33.3	2	33.3	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0
West Hawai'i Explorations Academy	29	3	10.3	3	10.3	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0
Maui County																	
Kihei Public Charter	41	15	36.6	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	15	36.6	0	0.0
Kauaʻi																	
Kanuikapono Learning Center	1	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0
Kawaikini PCS	2	1	50.0	0	0.0	0	0.0	0	0.0	1	50.0	0	0.0	0	0.0	0	0.0
Ke Kula Ni'ihau 'O Kekaha	1	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0	0	0.0
Kula Aupuni Ni'ihau A Kahelelani	4	2	50.0	0	0.0	0	0.0	0	0.0	2	50.0	0	0.0	0	0.0	0	0.0

¹ Excludes home schoolers and students who earned high school diplomas through the General Education Development (GED) examination.

² Entering freshmen only.

³ Includes all regular first-time students; excludes specials (early admits).

⁴ First graduating class in June 2014.

⁵ School reported no graduates in school year 2013-14; going rate is undefined.

⁶ Laupahoehoe became a Public Charter School in school year 2012-13.

⁷ First graduating class in June 2013.

Note: The "going rate" is the percentage of "recent" high school graduates from Hawai'i public and private high schools entering the University of Hawai'i campuses in a given fall semester. "Recent" high school graduates are those who completed high school in the school year immediately preceding enrollment in post-secondary education.

Source: University of Hawai'i, Institutional Research Office. High School Background of First-Time Students Fall 2014.